CLS

PRINT "M =? M<150 ";

INPUT M

S = 0

DIM X(150)

DATA 12,-3,-4,5,6,88,-55,88,2,9

DATA 2,3,-4,5,6,88,-55,88,2,9

DATA 32,3,-4,5,6,88,-55,88,2,9

DATA 42,3,-4,5,6,88,-55,88,2,9

DATA 52,3,-4,-5,6,88,-55,88,2,9

DATA 62,3,-4,5,6,88,-55,88,2,9

DATA 72,3,-4,5,6,88,-55,88,2,9

DATA 82,3,-4,5,6,88,-55,88,2,9

DATA 92,3,-4,5,6,88,-55,88,2,9

DATA 102,3,-4,5,6,88,-55,88,2,9

DATA 112,3,-4,5,6,88,-55,88,2,9

DATA 122,3,-4,5,6,88,-55,88,2,9

DATA 132,3,-4,5,6,88,-55,88,2,9

DATA 142,3,-4,5,6,88,-55,88,2,9

DATA 152,3,-4,5,6,88,-55,88,2,9

PRINT "X("; M; ")"

FOR i = 1 TO M

READ X(i)

PRINT X(i);

IF X(i) < 0 AND i \ 2 = i / 2 THEN

S = S + 1

END IF

NEXT i

PRINT

PRINT "S = "; S

